IES. Ramdn Giraldo

Soluciones (ecuaciones de la 39 a la 54)

IX+8=7x+16

I9x-7x=16-8
39) 2x=8

x:§:4

2

4Xx+5=3x+12
40) 4x-3x=12-5
X=7

7X+9=57+X
7X—Xx=57-9
41)  6x=48
48
X=—=
6

8

5x-13=2x-4
5x—-2x=-4+13
42) 3x=9
x:g=3
3
X+17=3x+1
X—-3x=1-17
43) —2x=-16
x::£§=8
-2
TX—3-2=21x—-9-2X
TX—=21X+2X=-9+3+2
44) ~12x=-4
-4 1
X=—=—
-12 3

10-5x=4x-5
—5x—-4x=-5-10
45)  —9x=-15
-15 5
X=—=—
-9 3

4-2X+5=-3X
49) -2x+3x=-4-5
X=-9

3X+1=7x-11
X-7x=-11-1
50) —4x=-12
x::1g=3
-4
4—-x=12-2X
51) —x+2x=12-4
Xx=8

3X+2Xx-10=15+4x
52) 3x+2x—4x=15+10
x=25

20-4x=2x-10
—-4x—-2x=-10-20
53)  -6x=-30
x::§9=5
-6
2X—6=9+Xx
54) 2x—x=9+6
x=15

100-3x=5x-28
-3x—-5x=-28-100
55) —8x=-128
_-128

X= =16
-8

Cipri

Ecuaciones de primer grado



IES. Ramdn Giraldo

19+8x=12x+14
8x-12x=14-19

46)  —4x=-5
-5 5
X=—=—

-4 4
21x—-3=10x+X
21x-10x—x=3

47) 10x =3

3

X=—

10

2—6Xx=36Xx-5
—6Xx—-36x=-5-2
48)  —42x=-7
-7 1
X=——=—

-42 6

Cipri Ecuaciones de primer grado



